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1. Answer any two of the following : 2x2

(a) What are the features of GLRM?

(b} What do you mean by GMM?

{(Turn Qver)



- (¢) Specify the features of the error term in cross-
sectionally correlated and timewise Autoregressive

Model.
(d) Give an example of seemingly unrelated regression.

2. Answer any one of the following : 1x6

(a) How is GLRM helpful for prediction of future values ?

{(b) What is error component model? Find out the

variances-covariance matrix of this model.
3. Answer any one of the following : 1x10

{a) Estimate the parameter of GLRM by GLS and prove
that it is BLUE,

(b} Explain the estimation procedure of cross-sectionally
Heteroskedastic and Timewise Autoregressive (CHTA}

model.
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Group—B

4. Answer any two questions from the following : 2x2

(a) What is ILS ?

\

(b) What is LIML ?
(c} What are the problems of LIM?

{d} Write any two criteria for the selection of principal

components.

5. Answer any one question from the following : 1x6

(a} Prove with a suitable example that OLS estimator is
inconsistant in simultaneous equation model.
6

(b) Write the order condition and rank condition of
identification of an equation in simultaneous equation
system. Check the identification status of investment
function in the following system :

.Ct =o0g +ay Y —agTy +1
It =Bo + Py Yep +ug

Te=vo+1 Yi +u3
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6. Answer any ore question from the following : 1x10

(a} Explain the 2SLS estimation producer. What are the
properties of 2SLS estimates ? Prove with a suitable

example the ILS and 2SLS for just identified equation.

(b) What is logil model ? How is the model estimated ?
How can you find the marginal effect of change in the
explanat;)ry variable on P,? What are the measures
of goodness of fit in this model ? What is the relation
between logit and ‘probit estimates ?
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